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Pressure calibration: PAINE 211-75-710-01 300 p&ia.. S/N 148171
Straight Line Fit: R
Pressure(psia) = M * N + B (N = Binary qutpit) & -
N = -0.03914 B = 149,99 |
Quadratic Fit: T
Pressure(psia) = AO + AL * N+ A2 * N # N -«g@@ Lnary- output)
. SRSVIE RGBT
A0 = 149.79764 AL = =3.912084e=02 A2 = 3.04181l1e-08
Straight Line Fit Quadratic Fit
Pressure (psi) Output (N) exrror, psi error, ¥FS.. er;ror:;psi error, $FS
, 14.68 3465.93 «0.342 -0.d1 ~0.137 -0.05
- 60.04 ¢ 2302,57 ~0.169 -0.06: 180.. - =0.06
120.08 ____766.45 = -0.086 ~0.03 "~ a0,255 =0.09
180.12 __=770.89 . 0.044 0.01 -0.140 . -0.05
240.16 _—=2301.,92  -0.072 <0.02 - -0.04
240.16 -2306.76 0.117 0.04 0.02
120.08 __756.39  0.307 0.30 % Fo 0.05
60.04 —-2294,81 _  0.135 0.04 . 0.04
14.68 57,39 -0.008 =0.00 0.07
Output binary values are averages of 101 samples taken at 2 Hz.
SEASOFT Versions 3.3M and higher will prawpt for A0, Al, ard A2
SEASOFT Versions 3.3L and lower will prampt for M and B



